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Q1. SOLVE ANY FIVE OUT OF SIX EACH 2 MARKS

(i) Write short note on energy and power signal.
(i) Determine whether given signal is periodic or non periodic. Incase the signal is periodic
specify it's fundamental period
a)X1(n)=cos(0.001mm) -
b)X2(t)=3cosV2t+7cosbmt
(iii)Check following system for causality,linearity,time variance and static or dynamic
Y(n)=x(2n)
(iv)Sketch the signal:-
a)x(n)=2u(n)-u(n-2)-u(n-4)
b)x1(n)=x(n-2)
(v)Find even and odd component for signal-
H(n)={1,3,2,3,-2}
T

(vi)sketch even and odd part of signal-
A X ()

) >t
a.
Q2. SOLVE ANY ONE OUT OF TWO 5 MARKS
(i)For the following signals,determine and sketch linear convolution y(n) graphically
X(n)=n for 0<n=2

=0 elsewhere
H(n)=1 for -1<n2>1
=0 elsewhere

(if)Given the two sequence of length N are:
X(n)={0,1,2,3} H(n)={2,1,1,2)}
Find the circular convolution

Q3. SOLVE ANY ONE OUT OF TWO 5 MARKS
(i)State and explain sampling theorem.
(if)Obtain linear convolution of following sequences using tabular method:
X(n)={0,1,2,3} H(n)={2,3,1}
T T
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Q.1SOLVE ANY FIVE OUT OF SIX (EACH 2 MARKS)

a) Draw symbol and IC pin out diagram for IC 741 op-amp.

b) State any 5 characteristics of Ideal op-amp and practical op-amp.

c¢) Draw the circuit diagram for op-amp as a voltage follower.

d) Draw the circuit diagram for op-amp as an inverting adder to add three

voltages.
e) Compare Inverting and Non inverting configurations of op-amp.
f) Design a circuit to produce an output Vo =3V ;+5V,-6V;.

Q.2 SOLVE ANY ONE OUT OF TWO (EACH 5 MARKYS)

a) Explain Virtual Short and Virtual Ground concept.
b) Explain op-amp as an Integrator.

Q.3 SOLVE ANY ONE OUT OF TWO (EACH 5 MARKS)

a) Derive the Expression for closed loop voltage gain of Non-Inverting
amplifier.
b) Short note on Instrumentation Amplifier.
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Q SOLVE ANY FIVE 10 MARKS

1
1. State working principle of transformer.

2. State Fleming left hand rule.

3. Differentiate between electric and magnetic circuit.
4. Define MMF & Reluctance.

5. Draw phasor diagram of transformer on no load.
6. Explain hysteresis loss.

Q2. SOLVE ANY ONE 5 MARKS

1. Derive emf equation of transformer.

2 The magnetic circuit has dimensions A=4*4cm?2 ,1g=0.06cm,lc=40cm,N=600turns.assume
the value of ur=600 for iron. Find exciting current for Bc=1.2 T and the corresponding flux and

flux linkages.

Q3. SOLVE ANY ONE 5 MARKS
1. A 250/500 V transformer gave following results
OC TEST. 250V, 1A, 80W on LV side
SC TEST. 20V, 12A, 100W on HV side
Calculate circuit constants.
2. Draw phasor diagram of transformer under inductive and capacitive load including
Resistive and reactive drop.
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g-1. Sowe any Five our 0f Six. (10)

Q) Using Bisection me#od {ind -~oot ot Xx*5x+)
up 4o +Hhree |tevation.

b) US\ﬂj talse -POS!'HOn MQ%OO‘ {;ino! out Hhe ‘COD't 0t
( 5CX) = X' 1 uP 0 Hhvee |t<-tat10n

A‘c) EXPlain e wmeshod 0F findimg e RoOt of
equation ¢ and uJNCk as mpst apPProXi mated
mMmeirod and ua‘nj

d) Explain with Swtable examples it te~ent types
ot evv0xs encounteved in numesical computations

e) golve by the <Cramess Rule

SX¥Y42%2=3
ox -3y-zZ2 =-3
¥+ 2yt+z = 4

") Obtain an Initial APPTOXiMAaHOD 40 e ~oot D

' the equatiov
fF(x) = cosx - xc*=0D

2. golNe any One oux of Two. (5)

obtaln Jhe =mallest posSrHye pReoot at e
-tonowma equasion by Reguloe FalsSi menod,
X3-X-4=0
USe New+ton RaPh Zon method +oO obtain Root
upto three dedmad Places of the b-ol\omwﬁ
equaton .
X SinX + COSXx =0




d-3. Sole any one put 0F TwWD.

OQ SoWe by  Gauss LA min atioy metihod

2X\+ X2+ X3 = |D
X1+ 2x2+3¥3= 1Q
X1+ Ax21+9X3= | ¢

b) Find +he wadue of Xy, X2,
etimnination method.
X1 X2 X3 = |
4x|+~3¥'2+ X3=§
3BXI+ 5x2+3X3= 4

X3 by Gowuss
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